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hORES - | hoxES HORES - | hoRES - HORES hOFES - | hORES - | hOxES
osbex| TEY |ostex| TEF |ostex| IEY |ostex| £EF o568k | TEY |ostex| TEY |ostex| IEY |ostex| LEY
NED = (R0} = [EX0) = NED = (R0} = nEO = NED = [EX0) =
G | e | ) | amd | | aand | ) W/ | m e | o e | | aawnd | )
1 ~ 2 - - = - - = - -
2 ~ 3 151.8 1.0 100.0 1.0 - = 15.2 3.0
3 ~ 4 162.4 1.0 100.0 1.0 19.7 3.9 15.2 3.0
4 ~ 5 162.4 1.0 100.0 1.0 19.7 3.9 15.2 3.0
5 ~ 6 161.3 1.0 100.0 1.0 17.2 3.4 15.2 3.0
6 ~ 17 161.1 1.0 100.0 1.0 16.5 3.3 15.2 3.0
7 ~ 8 158.6 1.0 100.0 1.0 17.0 3.4 15.2 3.0
8 ~ 9 154.8 1.0 100.0 1.0 = = 15.2 3.0
9 ~ 10 145.0 1.0 100.0 1.0 — — 15.0 3.0
10 ~ 11 123.6 1.0 100.0 1.0 — = 12.7 2.6
12 ~ 13 116.3 1.0 100.0 1.0 — = 10.9 2.2
13 ~ 14 133.1 1.0 100.0 1.0 — = 13.0 2.6
14 ~ 15 133.1 1.0 100.0 1.0 — = 13.0 2.6
15 ~ 16 124.5 1.0 100.0 1.0 — = 11.6 2.3
16~ 17 120.0 1.0 100.0 1.0 = = 11.3 2.3
17 ~ 18 120.0 1.0 100.0 1.0 = = 11.3 2.3
19 ~ 20 - - = - - = - -
20 ~ 21 - - = - - = - -
21 ~ 22 150.8 1.0 100.0 1.0 - = 15.2 3.0
22 ~ 23 150.8 1.0 100.0 1.0 - = 15.2 3.0
23 ~ 24 125.3 1.0 100.0 1.0 - = 11.7 2.3
24 ~ 25 101.8 1.0 100.0 1.0 - = 10.7 2.2
25 ~ 26 - - 97.2 1.0 - = 10.7 2.2
27 ~ 28 112.7 1.0 100.0 1.0 = = 10.9 2.2
28 ~ 29 137.2 1.0 100.0 1.0 = = 12.8 2.6
29 ~ 30 146.6 1.0 100.0 1.0 — — 14.6 2.9
30 ~ 31 146.8 1.0 100.0 1.0 — — 15.2 3.0
31 ~ 32 146.8 1.0 100.0 1.0 — — 15.2 3.0
32 ~ 33 148.5 1.0 100.0 1.0 — — 15.2 3.0
33 ~ 34 148.5 1.0 100.0 1.0 — — 15.2 3.0
34 ~ 35 148.5 1.0 100.0 1.0 — — 15.1 3.0
35 ~ 36 135.0 1.0 100.0 1.0 — — 13.1 2.6
36~ 37 135.0 1.0 100.0 1.0 - = 13.0 2.6
37 ~ 38 132.8 1.0 100.0 1.0 - = 11.6 2.3
38 ~ 39 132.8 1.0 100.0 1.0 - - 12.1 2.4
39 ~ 40 130.2 1.0 100.0 1.0 - = 12.1 24
40 ~ 41 115.8 1.0 100.0 1.0 - = 10.5 2.1
42 ~ 43 118.1 1.0 100.0 1.0 - = 10.7 2.2
43 ~ 44 125.5 1.0 100.0 1.0 - = 11.2 2.3
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